
1. (x − 1)(x − 3)(x − 5)(x − 7) + a가 이차식의 완전제곱이 되도록 a의
값을 정하면?

① 4 ② 8 ③ 12 ④ 15 ⑤ 16

(준식)= (x2 − 8x + 7)(x2 − 8x + 15) + a
여기서, x2 − 8x + 7 = X로 놓으면
(준식) = X(X + 8) + a

= X2 + 8X + a = (X + 4)2 + a − 16
따라서 a = 16

해설



2. x + y = 2, x3 + y3 = 14일 때, x5 + y5의 값을 구하면?

① 12 ② 32 ③ 52 ④ 82 ⑤ 102

x5 + y5 = (x2 + y2)(x3 + y3) − x2y2(x + y) · · · (∗)
x3 + y3 = (x + y)3 − 3xy(x + y)
∴ 14 = 8 − 6xy
∴ xy = −1 · · · · · ·①
x3 + y3 = 14 · · · · · ·②
x2 + y2 = (x + y)2 − 2xy = 4 − 2(−1) = 6 · · · · · ·③
①, ②, ③을 (∗)에 대입하면
x5 + y5 = 6 × 14 − 2 = 82

해설


